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A CHILD IS BORN
As recorded by Thad Jones

Transcribed by Andy Key Music by Thad Jones
Arranged by Andy Key

I1

T
A
B

ggg 34

Gtr I

P  = 120
Amaj7

V

2

W

0

VV

2

W

1

Dm/A

V

3

V

4

V

3

let ring GKKK

fW

0
G

V

0

VVV
V

5

Amaj7

V

2

let ring

W

0

VV

2

W

1

Dm6/A

V

3

V

4

V

3

let ring GKKK

fW

0
G

V

0

VVV
V

5

let ring

I5

T
A
B

ggg
Amaj7

V

2

W

0

VV

2

W

1

Dm/A

V

3

V

4

V

3

let ring GKKK

fW

0
G

V

0

VVV
V

5

Gbm7`5
V

9

let ring

W

6

VV

7

W

7

Cb7+9

W

7

W

6

W

7

let ring GKKK

gW

6

I9

T
A
B

ggg
Fbm7

V

2

W

2

VV

2

W

2

Cb7+9

V

3

V

4

V

3

let ring GKKK

gW

4
G

V

0

VVV}f
V

5

Fbm7

V

2

let ring

W

2

VV

2

W

2

Cb7+9

V

3

V

4

V

3

let ring GKKK

gW

4
G

V

0

VVV}f
V

5

let ring

I13

T
A
B

ggg
Fbm7

V

2

W

2

VV

2

W

2

B9

V

4

V

4

V

4

let ring

g
W

5

V

7

VV
V

7

V

7

V

6

V

6

rit.
E7sus4

V

9

t

[7]

t

[7]

t

[7]

t

[7]

54

E13

W

0

N.H.
let ring

k
V

5

c V

6

V V

6

t

[0]

t

[0]

P  = 60

q

N.H.
let ring

W



A CHILD IS BORN - Thad Jones Page 2 of 2

Generated using the Power Tab Editor by Brad Larsen.  http://powertab.guitarnetwork.org

I17

T
A
B

ggg 34

P  = 120
Amaj7

V

2

W

0

VV

2

W

1

Dm/A

V

3

V

4

V

3

let ring GKKK

fW

0
G

V

0

VVV
V

5

Amaj7

V

2

let ring

W

0

VV

2

W

1

Dm6/A

V

3

V

4

V

3

let ring GKKK

fW

0
G

V

0

VVV
V

5

let ring

I21

T
A
B

ggg
Amaj7

V

2

W

0

VV

2

W

1

Cb7+5

V

5

V

4

V

3

let ring

gW

4

V

5

VVV
V

9

j

Dmaj7

t

[12]

j

N.H.

W

10

k V

11

c V

11

V V

10

G9

W

10

W

10

W

10

W

9

let ring GKKKK

fW

10

f

Bm7`5
V

1

V

3

V

2

V

3

fV

1

f

I25

T
A
B

ggg
A/E

V

2

W

0

VV

2

W

1

F6add11

V

3

V

2

V

2

let ring

W

1

f
V

0

VVV
V

5

j

Fbm7

V

2

W

2

VV

2

W

2

B9

V

4

V

4

V

4

let ring

g
W

5

V

7

VV
V

7

V

7

V

6

V

6

I29

T
A
B

ggg
rit.

E7sus4

V

9

W

0

t

[7]

t

[7]

t

[7]

t

[7]

54

E13

W

0

N.H.
let ring

k
V

5

c V

6

V V

6

t

[0]

t

[0]

P  = 60

q

N.H.
let ring

W

let ring


